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SAMPLE QUESTIONS

OBJECTIVETESTS

Below are given some sample questions for the objective
type tests. The types of questions are only illustrative and
not exhaustive. In actual examination you may find ques-
tions on some or all of these types and also questions on
the types not mentioned here.

TEST | : REASONING

This is a test to see how well you can think. It contains
guestions of various kinds. Here are some sample
questions.

Directions : In each of the following questions, there is a
group of letters or words given. Four of the five are alike in
a certain way, while one is different. Find out the one
which is different.

Q.1. (1) black (2)red (3)green (4)yellow (5)paint

Of the five, ‘black’, ‘red’, ‘green’, and ‘yellow’ form a group
as they are names of colours. ‘Paint’ is not the name of a
colour. Therefore (5) is the answer.

Now try to solve the following question.
Q2. MYXZ (2)MN B)PQ (@)BC

Following are the questions based on analogy.

(5)ST

Q.3. “Foot” is related to “Man” in the same way as
“Hoof" is related to
(1)Leg (2)Horse (3)Dog

(4)Boy (5) Shoe

In the above example, with which one of the five, “Hoof”
has the same relationship as “Foot” has to “Man” ? The
answer is “Horse”, which is answer number (2).

Now try the following questions.

Q.4. “Day” is related to “Night” in the same way as
“Kind” is related to
(1) Cruel
(4) Generous

(2) Bright
(5) Gratitude

(3) Dark

Now try the following questions.

Q.5.

If the letters in the word TOPS can be rearranged
to form a meaningful word beginning with O, the
last letter of that word is your answer. If more than
one such word can be formed, M is the answer
and if no such word can be formed, X is the answer.
oaT  @FP ()M @s (B)X
Q.6. Some leaders are dishonest. Satyapriyais a
leader. Which of the following inferences
definitely follows from these two statements ?
(1) Satyapriya is honest

(2) Satyapriya is dishonest

(3) Some leaders are honest

(4) Leaders are generally dishonest

(5) Satyapriya is sometimes dishonest



il feomgat ok oAt @ d@dfta ge f st aaa € 1
AT ISR F 8 9l @ :
1. AIgeY 2, ffeRor

1. AL

1 991 A 37Tepferdl b <1 A B & S Uep A U 3Mepfoil
T 3R GERTAC IR 3BT DT BIAT S | T 3TThfAT &l HHI
H BIdT & | Ugel WFT A &I 3ThIcRIT & 3R GAR WIT H Udb 3TTdhfcl
Il & | Titeft 3Ty it SHTe YA 81T & | 31TUd! I8 a1 &
% gerfag & SR8 R TR NPT § H BT BT BNt |

3. H@all

A5 el F=forRad gem o |
ge 3Rt/ Problem Figures

O[Ol

U9 ATl bl UBeAl &1 TpTcIT <& | GHRY 3Tl Ugatt 3TTehfcl
3 febefl e HIfEIeT & | Ugetl STTehfcr Ueb o & | GART 3Tepfcl
T Gl 3T of ot <) feeedl o qiie e & 3fiR SAaT g e
BIT IR AT TS |

9./Q.7.

AT SR el arrapfar H a8t Haer 81T AR i ugetT 3R gost
JIPTT & & | R 3Pl Teb g & | Sferu <ileft ammepfcr & g
ST T H heT G3TT BT TMSY 3R IADT ST TET AT BlAT
BT TRV | JATPIcT H. 5 bl THRIRT I AThict A VAT T & |
AU IR 5 8 |

g9 3P fi / Problem Figures

7./Q. 8.

Rk

. (=
0O _C
m [0

U9 JTPIcrA H Uil 3R GERT 3Tl Bl & I & | Ugadt
SATPIcT H BTeTT ot & TR GERN MBI H AR T & Sl Bret T2 ©
AT Ueh ALY U H I Ry fohar T & ST 31ef I8 gan
1% ggett JTmepfcr o ST Hft A aRdt it & At A 9 S AR
AT & IR I DIel a1 (b TAT & | AT 81 ARI & bl Ueb W
T H Al [T T 2 SR I U IR P AN B & |

AR 3T T Te STt Tetl & | 31 ATt 3Mepfcr § AR et 81
ST IR I It 7 8 | Ire I &1 I AU fobarm T 81 {54
S A AR TPIT H & | 379 IR ATHAT & | 39 <
HTPTcT AT 19 I TRE W aRRAT 2R et & 58 Prell Tei
fSpaT 1T 8 | 37c: STUehT I “1” BT |

There may also be problems in the form of figures,
designs and drawings. These may be of three types :

1. Analogies 2. Classification and 3. Series

1. Analogies:

In these questions, there are two sets of figures. the
‘Problem Figures’ and the ‘Answer Figures’. The Problem
Figures are presented in two units. The first unit contains
two figures and the second unit contains one figure and a
guestion mark in place of the fourth figure. You have to
find out which one of the Answer Figures should be in
place of the question mark.

Study the following questions based on Analogies.

SR AP i / Answer Figures
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1 2 3 4 5

Look at the first two Problem Figures. The second figure
is related to the first figure in a certain way. The first figure
is a square. In the second figure, the square has been
bisected by a vertical line and the right half has been
darkened.

The third and fourth figures should have the same
relationship as the first and the second have. The third
figure is a circle, so in the fourth figure, the circle should
be bisected by a vertical line and the right half should be
darkened. Answer Figure 5 is related to the third Problem
Figure in this way. Therefore the answer is “5”.

IR P fi / Answer Figures
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Study the first and the second figures in the Problem
Figures. The first figure is a darkened square and in the
second figure, there are four squares, not darkened,
arranged in a particular way. That means the elements in
the second figure are four times the elements in the first
figure and are not darkened. In addition, the four squares
are arranged in a specific way and are not touching one
another.

The third figure is a darkened circle. Therefore, the fourth
figure should have four circles which are not darkened,
arranged in the same way as in the second figure. Now
look at the Answer Figures. You will find that figure 1
consists of four circles which are not darkened arranged
in a similar way. Therefore, the answer is “1”".
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Study the first and the second figures in the first unit of
the Problem Figures. The first figure is made up of four
lines and the second figure is made up of five lines. That
means the second figure has one line more than the first
figure. The third figure in the second unit has five lines.
Therefore, the fourth figure should have six linesi.e. one
more than the third. Now look at the Answer Figures. You
will find that figure 3 is made up of six lines. Therefore, the
answer is “3”.

Now, attempt the following questions. (Correct answers
to all the unexplained questions are given later in this
booklet).

TR AP AT / Answer Figures
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2. Classification : |
Study the following questions based on classification.

Problem—cum-Answer Figures
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In classification, the Problem Figures are also the Answer
Figures. Out of the five figures 1, 2, 3, 4 and 5, four are
similar in a certain way and so form a group. One figure is
not like the other four. The question is which one of the
figures does not belong to this group.

For example, look at the example at Q. No. 12. Of the five
figures, four figures are such that in each of them, there
are two similar figures, one within the other. These four
figures form a group. Figure 1 is unlike this and so does
not belong to this group. Therefore the answer is “1”.

Problem—cum-Answer Figures
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Study the five figures of Q.13. The first four figures form a
group as they represent different types of containers while
the fifth figure, a spoon, does not represent a container.
Therefore the answer is “5”.
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Now attempt the following questions.

Problem—cum-Answer Figures
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Study the following problems based on series.
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Note that the four figures given first at the left are called
Problem Figures. The five figures given next are called
Answer figures. They are indicated by numbers 1, 2, 3, 4
and 5.

The four Problem Figures make a series. That means they
change from left to right in a specific order. The question
is “if the figures continue to change in the same order,
what should the fifth figure be ? In the example above, as
you go from left to right, you find that the arrow inside the
circle keeps rotating at 90° in the clockwise direction. The
guestion is, ‘if the arrow continues to rotate by the same
amount in the clockwise direction, what will be its next,
i.e. fifth position ? The answer is that it should point towards
the top in the fifth figure. Answer Figure 2 shows this

position of the arrow. Therefore, the answer is “2”.
TR AP fi / Answer Figures

€3 PO D [ €D

1 2 3 4 )

Look at Q.17 carefully. You will see two different things
happening here. When you move from left to right, the
number of black dots inside the hexagon is increasing by
one everytime in the anti-clockwise direction. But note
that the white dot is moving in the clockwise direction. In
the fifth figure, the white dot should be at the upper left
corner of the hexagon. Only Answer Figure 3 has both-
one black dot getting added at the lower left corner and
the white dot moving to the upper left corner. So, the answer
is “3".
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Note that there can be questions with five Problem
Figures in the series type of questions. For example,
study the Problem Figures in Q. No. 18.

SR AP i / Answer Figures
NE EIEE
1 2 3 4 5

Note that the number of arrows is increasing by 1 everytime
and that they are gradually falling towards the left. In the
sixth figure there should be six arrows and they should
fall further and be lying flat, i.e. they should be horizontal.
The answer, therefore, is “5”.

Now solve the following questions.

SR AP i / Answer Figures
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Test Il : QUANTITATIVE APTITUDE

This test is designed to measure how fast and accurate
you are in dealing with numbers, viz. computation,
guantitative reasoning, interpretation of tables and graphs.

Directions : In each of the following questions one number
is missing. The place where the number is missing is
shown by a question mark (?). You have to find out which
one of the answers shown against 1, 2, 3 and 4 can replace
the question mark. If none of these four can replace the
guestion mark, you will indicate (5) i.e. ‘None of these’ as
your answetr.

Q21. 42 + 73 + 137 = ?
(1) 352 (2) 252 (3) 242
(4) 142 (5) None of these
1
Q.22. 20x 3 = ?
(1) 4 2) 5 3) 12
(4) 20 (5) None of these

The correct answer for Q.22 is 10. But none ofthe 1, 2, 3,
or 4 shows this answer. Therefore your answer is 5.

Some of the questions may require arithmetical reasoning.
For example :

Q.23. At 10 paise each, how many paise will 6 lemons
cost ?
1He6e @210 (3 60 4) 61 (5) 610

Q.24. Which of the following can be exact multiple of 4 ?
(1) 27114 (2) 58204 (3) 48402

(4) 32286 (5) None of these
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Q.25. Ifthe profit made by selling a pen for Rs.10 is as
much as its cost, what is the cost price of the

pen?
(1) Rs.3-  (2) Rs.5/- (3) Rs.10/-
(4) Rs.20/- (5) None of these

Also, there may be some questions based on graphs and
tables.

Directions : Given below is a table showing percentages
out of a total of 700 employees ranking six attributes that
help promotion. Rank | is the highest. Study the table
carefully and answer questions that follow :

Attribute Percent of Employees Giving Different Ranks

I I 11l | \% Vi
Seniority 32 17 22 19 5 5
Perseverance 14 19 17 9 27 14
Efficiency 15 19 21 14 14 17
Intelligence 10 14 10 14 17 35
Honesty 24 17 7 9 27 16
Sociability 5 14 23 35 10 13

Q.26. Which attribute for promotion has received the
highest rank ?
(1) Perseverance (2) Seniority
(4) Sociability (5) Efficiency

(3) Honesty

Notice the percentage for rank | given in the table. You
observe that seniority is the attribute with the highest
percentage. So your answer is “Seniority”, which is answer
No. (2).

Q.27. How many employees gave rank Il to intelligence ?
(1) 119 (298 (3)77 (470 (5) 10

Look at the intersection of the column giving percentage
for rank 11l and the row giving percentage for intelligence.
You find that 10 percent of the 700 employees have given
rank Ill to this attribute. 10% of 700 is 70. So your answer
should be (4).

Q.28. Which attribute is considered the least important
for promotion ?
(1) Honesty (2) Intelligence (3) Perseverance
(4) Efficiency (5) Sociability
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Test Ill : GENERAL AWARENESS ON
CURRENT DEVELOPMENTS

This test is designed to measure your awareness about
the past and present events.

Q.29. Tocombatthe menace of money laundering, which of
the following financial institutions has introduced the
‘Know Your Customer’ Scheme ?

(1) IDBI (2) RBI

(3) NABARD 4) SIDBI

(5) None ofthese

Q.30. Which of the following sectors contributes
maximum in deciding the growth in income of the
states in India ?
(1) Energy
(4) Transport

(2) Tourism
(5) Agriculture

(3) Service

Q.31. Which of the following is the state where the
number of people living below poverty line is
maximum ?

(1) Bihar (2) Andhra Pradesh
(3) Uttar Pradesh (4) Rajasthan
(5) Orissa

Q.32. OSCAR awards are given for best performance in
which of the following field ?

(1) Motion Picture  (2) Literature

(3) Sports (4) Science & Technology

(5) Social Service

TEST IV : ENGLISH LANGUAGE

This is a test to see how well you ‘know’ English. Your
English language ability would be tested through questions
on grammar, vocabulary, sentence completion, synonyms,
antonyms, comprehension of a passage, etc. Study and
answer the sample questions given below. Please
remember, in the test paper there may be questions of
several other types also.

Direction : Pick out the most appropriate word from amongst the words given below each sentence to complete it
meaningfully.
Q.33. He quickly glanced .........cccccvvvviiiivinnnns the book to find what it said about the Indian economy.
(1) at (2) through 3) in (4) to (5) over
SAPT S1d SR “through” & RTdhT STR &A1 ‘2" B | The errorisin (1). Therefore the answer is ‘1".
Q.34. The counsel urged the courtto ................ooooee. down the obnoxious law.
(1) enact (2) enforce (3) cancel (4) strike (5) declare
Q.35. The local official ............ovvvvvvvinnnns the Minister of the situation.
(1) explained (2) warned (3) apprised (4) told (5) intimated



Directions Read each sentence given below to find out whether there is any grammatical error in it. The error,
if any, will be in one part of the sentence. The number of that part of the sentence is your answer. If
there is no error, the answer is ‘5’
(Ignore errors of punctuations, if any)
Q.36. | am twenty / two years old / when I first / joined the bank. No error
(1) (2) 3) 4) (5)
PG (1) H I3 IR L' 8| The error is in (1). Therefore the answer is ‘1",
Q.37. To the Hindus / the Ganga is / holier than / any other river. No error
1) (2) 3) 4) ©)

9 15 H DIy JYE el &, TATCTL Sleh ITR ‘5’ B |

In this question, there is no error; Hence the right answer

to this question is ‘5.

31q fer=ifetRad g9 &I &1 hifoy - Now attempt the following question.
Q.38. Of all the teachers / in our school / our class teacher / were very strict. No error
1) (2) 3) 4) (5)
Directions: In each of the following questions select from amongst the five alternatives, the word nearest in
meaning of the word given in capitals.

Q.39. CENTENARY

(1) aguard (2) a hundred years (3)averyoldman  (4) hundredruns  (5) hundredth anniversary
Q.40. TRIUMPH

(1) conquer  (2) smash (3)earn (4) brave (5) capture

Directions : In each of the following questions, select from amongst the five alternatives, the word most

opposite in meaning of the word given in capitals.

Q.41. LIVELY

(1) simple (2) weak (3) dull (4) angry (5) moron
Q.42. INADVERTENT

(1) adequate (2) available (3) sluggish (4) negligent (5) intentional

gATdell V : aEEie S

39 YeTdell 39 M A IR fhar W1 & Pl 3ud Heleg
fA9STar & & ST T A9 & A | UAD UG P oY IMeFT
gerEctl $hl HSHE BT TR UG P Thd b JFAR gRafcfd
21 |

Test V : PROFESSIOAL KNOWLEDGE

This test will be to assess your knowledge in the relevant
area of specialisation. This test will be different for each
post. The level of difficulty of this test will vary according
to the scale of the post.
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There will be a single answersheet for all the objective
tests.

Now follow the correct method of showing your answer
with an HB pencil and mark your answers to all the 32
guestions given so far in this booklet on the specimen
answersheet given below. This will give you practice in
correctly marking your answers. Answers to first four
guestions have been marked for you.

Specimen Answersheet for ‘Practice questions’.

I D000 "D 11O ?DPODE® +1OOO®®
OO 1O 2O ?»VPOVO +:O0DOO®O®
T 0@ 2000V 200000 PODOOE® +0OOOD®O
I OO TV 200000 TODOOE® +OOOO®O
s DO *"OOOO®O 2 QOO 200D 100OO®O
st DO "TOOOO®E DO 2OV 20000 ®
T OO WO Hololo oo MENOIONOJORO)
t QDOOOO® TOOOOOG HoloYeoXo Yo lERCIO O RO RO
T DO 20O T OO PTOOOOO
ST} 42 09T & FE SR AR AR & | su gy s SRy Correctanswers to all these 42 sample questions are given
T PR % Td & | below. You may check your answers against them.
g™ Siykd g™ Siykd g™ Siykd g+ Shvkd
Questions Answers Questions  Answers Questions  Answers Questions Answers
1 5 12 1 23 3 34 4
2 1 13 5 24 2 35 3
3 2 14 4 25 2 36 1
4 1 15 3 26 2 37 5
5 4 16 2 27 4 38 4
6 3 17 3 28 2 39 5
7 5 18 5 29 2 40 1
8 1 19 3 30 5 41 3
9 3 20 1 31 5 42 5
10 4 21 2 32 1
11 5 22 5 33 2




